2021-2022 7

8 5 40
1. M(-2,1,3) X
A (-213) B (-2-1-3) c (21-3 D (-21-3)
- = I
2. ab |aHbl-La-b=-
2
A 30° B 60° C 120° D 150°
3. I, :x+my+1=0 I,:mx+4y+2=0 , m
A -2 B 2 C x2 D 2 4
4. O- ABC OA=a OB=b OC=c¢c AN=NB,BM=2MC MN=
A raslpoZe B ofa-lh+lc ¢ fa-ip-it p lailpelc
2 6 3 2 6 3 2 6 3 2 6 3
5. Xsina—y+2=0
V4 3z T V4 V4
A [0,7 B [0,=]u[—, c [0,— D [0,—]u(=,
[0, 7] [4] [47r) [4] [4] (27r)
6. P(-2,0) I:(1+30)x+(1+24)y=2+51(1eR) p |
A 243 B 10 C 14 D 2415
7, ABCD-ABCD, P M
PM =PB, + 7BA+6AA, —4AD, M
A BAD, B BAD ¢ BA,D, D AB,C,
8. O —xyz P(meovzo) ﬁ=(a,b,c)
a a(x—X,)+b(y—vy,)+c(z-2,)=0 P(X, Yo120)
az(u,v, w)(uvw= Q) | -
a 3X-5y+z-7=0 I X-3y+7=0 4y+2z+1=0



p V10 g 37 ¢ V7 p V4
35 5 15 55
4 5 20
5 0 2
9.
Y-V,
=k M (X, ,
I~ (%, %:) k
B X Y a,b —+X:1
b
C y=kx+b Yy b
D A(-2,2),B(L1) l;ax+y+1=0 AB a (—o0,—2]
10. LeonhardEuler 1765
ABC A(-4,0),B(0,4)
X—y+2=0 C
A (20) B (0,2 C (-20) D (0-2)
11. ABCD - AB,C,D,
—2
A (AA+AD, +AB,)*=3AB, B AC-(AB -AA)=0
C AD, AB 60° D ABCD — A B,C,D, |AB - AA. - AD |
12. ABCD —-AB,C,D, BC=2AB=2BB,=6 E BC C
F ADD, A, B,F,EF ADD, A
A AF/ BCC,B, B F —BB,E 4
2
C F AFIBE D  AF [2*35]
4 5 20
2 3

13. a=(-Lx5) b=(2x-8,Y) X
14. a>0,b>0, L:(a-)x+y-1=0 1,:x+2by+1=0, I LI, §+%

2 6



15. ABCD — A B,C,D, E AB F

AD B,C EF
16. OABC E,F AB BC H EF
EH =%EF OH = xOA+ yOB + zOC xyz)=__ OALOB
OALOC |OAHOBIHOC|=1  |OH]|
6 70
17 10 12
17. AABC A(42) AB CM 0 &
Xx—y-3=0 AC BH Xx+2y-2=0. é\\zf’%:i
1 C 2 B AC A+
18. | P(3,2).
() | 3x—-2y-1=0 I
() | X y 3 |
() | X y A B AAOB



19.

(1)
(2)

20.

ABCD

PEF
AC PEF

ABC — AB,C,

AC D.

BCL ABD.

2

I PDL ABCD PD =1

AB=BC=+2 AC=2 AA=.5

A-AB,-D

E,F

A

AB,BC

ABC




21. D-ABC, ABLBD BCLCD M,N AD,BD

MC =1, AB =BD =+/2 D-BA-C 60°

1 MNC BCD 2 BM MNC




22. ABCD — A B,C,D, AADDL  CC,D,D
CC,=CD=D,D =%chl =1,
1 ADL  CC,DD

2 AC cC,D,D % C-AA -D




